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[Time: 3 Hours) £ i i [.Mark§380] |

Please check whether you have got the right question paper O PR

~ B S

N.B: 1, Question No. 1 is compuisory, >

2. Attempt any three questions from remainlng ﬂve questions. . _

3. Assume suitable data where required. FiaR B P W B

4. Figures to the right indicate full marks. ) : LY
{solve Any 4) e et w LA R, 12
2] Compare NMOS & CMOS technology in VLS design. - = TG T Y 05
b] Implement the following function using DynamicCMOSioglc. SV o <V R T 05

Y=A(B+0) S S N R T 8B N T

c] Compare Ripple carry adder with CLA. E Ses G LR o WAy LN : 05
d] Explain working Principle of flash memory. -~ - KBt L 05
e] Explain importance of low power design. ' St P SRR 05

~
N

N
N ~

2] Compare the full scaling & constant voltage sqaling models of MOSFE‘!‘S Demonstrate the effects of scaling 10
on the area, delay, power consum ption and current density of the. device
b] Explain transfer charactenstics for NMOS Inverter shbang diﬁerent regions What is the effect of variation 10

in W/L ratio? R D A S AT
2] Draw 1T DRAM cell and’ explainjt s wrlte, read hold & refresh operatlon ] 10
b] Explain scheme for mu[tlplicatlon of101%010. - g - 10
2] Explain various techniques of clo::k generatlon & clock distribution 10
b] Consider a CMOS Inverter. circultwlth fo!lowmg parameters X 10

Vppe 38w 57 . Vol T g e Bk

Vron=0. Bv. - I T R

Vrop=-0.7v. . 15 N

Kn=200pA|V? gy N R

K= 80 4 AV S T P

Calculate noiseMarglns of the c:rcurt Conﬂder Kg 2"5 & Vron #* Vrop.

'a} Draw JK Elip Flop. using, CMOS and axplain the working 10
) Draw CLA (carry |ookahead addg:) carry cham using dynamic CMOS logic. 10

._\

Write Short notes on (any threej ' 20
Latch uplin CMOS L =
Sense. Amplifier. :
Interconnect scaling .
4*4 Barrel Shifter. .

N

8198A654033A5DDDI10138F11D5811DAB




N.B:

Explain in brief

a) Integral controller
Temperature transmitter
Telemetry

|-P converter

A4F3662AC5TFTD38EAD99IES8399FICA9
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N.B : (1) Question No.1 is compulsory.

(3) Figures to the right indicate full marks.

QI(a)Multiply using Booth’s algorithm (-7) * (3).

(b) Explain parallel processing.

(c) Write a note on IA-32 register model.

’~.-«

(d) Compare Horizontal and Vertical organizﬁ tio;

S ‘\_ T f

=5 : N N
SN R

Q2(a)What is cache coherency? Explam various l'ﬁﬁﬂi, ds\

~

,:“ 1C ﬁ'e stmcnm and show how the

)
2 &‘J

10
10

10
10

10
10

dkkkkhkhkthkhikik
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Question No-1 is Compulsory. : ‘
Attempt any Three (03) Questions from remaining Flve (05) Questlons
Assume suitable data where ever necessary. _

Attempt the following Questions (any4)

a) Draw the Two Transistor Model Of SCR? State alf the cun:ents Equatlons of ICI, ICz _
&,Ia &

b) Why forced commutation is required in DC to AC convelters oF 4 P

¢) Calculate output voltage for a step down chopper with Vin=200 V' and Duty Cycle “0 25

d) What is the Need of freewheeling diode in rectifiers state with example

e) Explain brief why harmonic Neutrahzatlon is necessary in output of inverter.

f) Define and explain performance parameter of controlled rectifier ‘

What do you mean by Commutation- of SCR? State ”the vanous methods of commutahon of 10

SCR, Explain force method in detail. i

What is difference between a cycloconvérter and an ac voltage controller EXplam single 10

phase converters with waveforrns ' £ ;

th U o v

Explain the Basic Structu:rc& Statlc charactenstlcs of IGBT w1th creation of inversion 10
layer &conductivity modulation =~

Draw and Explain Buck-Boost Converter w1th the help of cn'cult dJagram and waveforms 10
Derive the relation for load voltage : Y

A three phase brldge lnverter is operated in lSG”conductlon mode is operating from a 560V 10
DC supply ,Find out the followmg (I)RMS Value of output line and phase voltage (I)RMS
Value of fundamental ccomponents of line and phase Voltages

Explain the Static I-V. Characterlstlcs of TRIAC‘? State Forward and Reverse Characteristics, 10
Compare: DIAC TRIA‘ OSSR SN S

Why the protectlon of SCRi in Neeessary" State the various protection of SCR, Explain any 10
one method in detail.

State comparison between control strategles of chopper 1.PWM control 2.Varable Frequency 10
Conrol 3.Current limit control. A step down chopper feeds a resistive load of 10 ohms from
100V DC supply Calculate duty cycle requn‘ed so that power dissipation in load is 100watts

Write short note on ( any 4 ) L 20
{2) Half wave controlled rectlﬁers with R load with waveforms

o) full brzdge inverter. Wlth waveforms

fc) Cuk regulators _

&) Construction& opcratron of GTO

) Comparg_IQBf_F and Power BJT

092EF8E177DD96EBE279CFD3C5C5AAS52




[ sem - N \J | |E TR¥T3226/ T0866 DIGITAL SIGNAL PROCESSING AND PROCESSORS ] MA--20| 7
( ‘Reas) Q.P.Code: 016380

(3 Hours) [Total Marks: 80]

NB:

1) Question No. ONE is compulsory.

2) Out of remaining questions; attempt any THREE questions.
3) In all FOUR questions to be attempted.

4) All questions carry equal marks,

5) Answer to each new question to be started on a fresh page,
6) Figures in brackets on the right hand side indicate full marks.
7) Assumc Suilable data if ncecssary

QI. Attempt any four ' (20 marks)
a) State and explain relation between DTFS, DFT and ZT
b) Explain the need of DSP processor.
) Differentiate between Butterworth and Chebyshev filters.
d) Explain frequency wrapping effect in designing [IR filter,
e¢) Compare DSP processor and microprocessor.

Q2. ) Explain Gibbs Phenomenon and state its significance in FIR filter design. (10 marks)
b) Explain different addressing modes of TMS 320C67XX DSP processor. (10 marks)
Q3. 3) What are the salient features of TMS 32067C67XX family of DSP processors. (10 marks)
b) Compute the circular convolution of the sequence using DFT aﬁd IDFT, x1(n)y={1,2,0} and
x2(nF={2,2,1,1) . (10 marks)
Q4. a) Compute IDFT of the following sequence using inverse FFT algorithm X(k) = {3,0,3,0,3,0,3,0}
(10 marks)
b) Explain VLIW architecture in details (10 marks)
Q5. a) Design Butterworth LPF to meet following specifications.
Passhand gain is 0.89
Passband frequency edge 30Hz
Attenuation 0.20
Stopband edge 75Hz (10 marks)
%) Design analog Butterworth filter that has -2 dB passband attenuation of 20 rad/sec and at least -10 dB
stopband attenuation at 30 rad/sec. (10 marks)
Q6. Write short note on following (Any two) (20 marks)

2) Frequency transformation in IR filter _
5) Application of DSP in speech and Radar processing
&) Limit cycle Oscillations

F97BF8CF494AE2E18F297DC342CB654B
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(2 Hours)
Note:
I Q.1 is compulsory ;
il. Attempt any three questions from remaining five. &
iii.  Each question carries 10 marks., &

1. Answer any five,

‘4. What is structured cabling?
b. What is web server?

¢. Explain CIA triangle in brief. :
d. Write four good practices used for/palsﬁﬁrétdfm‘&tia
€. What is Ethernet? s
f.  What is Biometric system? Explain.
8. State Network topologies, &

a. Why is Audit needed and wha s the planning required for conducting Audit?

b. Diﬁ'erentia‘t,_e:y,étq‘{nﬁégﬁ D‘BMSm}d“mBMS 5
5

5

5

5
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